[ Efficiency vs vertpos |

T T T
T

T

1072 10 1 10 0?
TP vertr (cr%)

—#— DQM_mkFit_XiMinusNOPU_newDefault5
Efficienq —— pom_mkFit_xiMinusNOPUold-lowpt

~ 0.7
$0.09
2]

= 0.08E
oy E : : :
o7t S USRI
[Che : : : :
S : : : :
£ 0.06 - A P :
()] . . . .

0.055— ------ ------- ‘* ....... ....... t ........ .......

0.04F--i-eeif : :
oo f

0.02F - igrgt o oy
001 iy ™

Quoﬁuuu

I F

hd 1:—' T+

0.95F-

0935 =20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> : : : : : : :

T e RAlS SRS U S S SERS
S o : : : : :
ZER S A S A S
20.04F bt e
> E : : : : : :

o R S S S
O b oo
0.08F -~ S :
0.06F
0.04F

0.02F

efticie

D

&

iy
IRRRRRERE}
1
n
L
+

Ratio

o
©
al

o
©
TTTT

|
N

0-15 -10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


